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'XUpH�����KHXUHV FRHIILFLHQW����



,QIRUPDWLRQV�FRQFHUQDQW�OD�SURGXFWLRQ� WHFKQLTXHV�OLEUHV�\�FRPSULV�HQ�YROXPH�� OD�SRVVHVVLRQ�GH�GRFXPHQWV�SHUVRQQHOV��GH GRFXPHQWV�LFRQLTXHV��Q
HVW�SDV�DXWRULVpH�� O
XWLOLVDWLRQ�GH�PDWpULDX[�EUXWV��Q
D\DQW�SDV�pWp�SUpDODEOHPHQW�IDEULTXpV�SDU�OH�FDQGLGDW��HVWSRVVLEOH�� OHV�PpGLXP�j�VpFKDJH�OHQW��SHLQWXUH�j�O
KXLOH��VRQW�LQWHUGLWV�� SDVWHOV�VHFV��IXVDLQ��VDQJXLQH�GRLYHQW�rWUH�IL[pV�� OHV�SURGXFWLRQV�GRLYHQW�rWUH�WUDQVSRUWDEOHV�� O
LPDJH�SUpVHQWH�GDQV�OH�VXMHW�QH�GRLW�SDV�rWUH�LQWpJUpH��WRXW�RX�SDUWLH��GDQV�OD�SURGXFWLRQ)RUPDW � SURGXFWLRQ�ELGLPHQVLRQQHOOH���VXSSRUW�GH�IRUPDW�$�� SURGXFWLRQ�WULGLPHQVLRQQHOOH���OHV�GLPHQVLRQV�QH�GRLYHQW�SDV�H[FpGHU����FP





$SSURSULH]�YRXV�OH�GRFXPHQW�SKRWRJUDSKLTXH�SURSRVp�SRXU�UpDOLVHU�XQH�SURGXFWLRQ�TXLDUWLFXOHUD�GLIIpUHQWV�FDGUDJHV�

/
pYDOXDWLRQ�PHVXUHUD� OH�GHJUp�GH�SULVH�HQ�FRPSWH�GX�VXMHW� OH�GHJUp�GH�SHUWLQHQFH�GHV�SURFpGXUHVSODVWLTXHV� OH�GHJUp�GH�FRKpUHQFH�GH�OD�SURGXFWLRQ�


